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Part A: Grammar & Vocabulary
61- He speaks .................. Spanish, so we are able to find a nice room in Madrid.
1) a few word of 2) few words of 3) alittle 4) a little more
62- People do not want to spend time in .................. but want to gain results as soon as possible.
1) learning 2) to learn 3) for learning 4) learn
63- Don’t worry. If you make a mistake in this job, nobody .................. .
1) will notice 2) won’t notice 3) notice 4) would notice
64- If you want to have a healthy diet, you need to .................. both fruits and vegetables in almost every meal
you eat.
1) refer 2) store 3) agree 4) include
65- She must be .................. of her son. He has received his PhD in physics.
1) certain 2) lucky 3) proud 4) favorite
66- A:It’sa ..cceninennnnnnns that you weren’t killed in that car accident!
B: Yes, but I broke my leg and it has hurt since then.
1) wellness 2) secret 3) progress 4) miracle
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67- We are quite busy today, but I’ll see if I can .................. a meeting for sometime tomorrow morning.
1) invite 2) arrange 3) exchange 4) measure
68- If you want to find out what’s going on in your .................. , listen to your local radio station.
1) range 2) region 3) agency 4) broadcast
69- A group of painters who was under the .................. of Picasso’s style had a meeting last week.
1) relationship 2) observation 3) influence 4) production
70- Doctors cannot find a cure for the illness until they have identified the .................. .
1) cause 2) event 3) style 4) pres
71- Although she didn’t mention any names, everyone knew who she was .................. to.
1) advising 2) referring 3) reflecting 4) expecting

Part B: Cloze Test
Psychology is the science of mental life. By mental life, we mean ...(72)... of the mind such as thinking,
remembering, dreaming, ...(73)... a friend, and understanding a language. Mental life also includes ...(74)...,
or feelings, such as pleasure and anxiety, and moods such as ...(75)... and worry. We express our mental life in
our behavior, for example, when we speak or write, or when we do something requiring ...(76)... such as
playing tennis.

72- 1) functions 2) pressures 3) messages 4) factors
73- 1) recognizing 2) frightening 3) achieving 4) preventing
74- 1) attempts 2) results 3) emotions 4) customs
75- 1) retirement 2) tiredness 3) recreation 4) proportion
76- 1) title 2) effect 3) habit 4) skill

Part C: Reading Comprehension

Before Newton’s time, scientists knew something about gravity. They knew that gravity makes objects fall to
the ground and keeps houses and people from being thrown into space. Could it be, Newton asked himself, that
the earth pulls the moon and keeps it from running away? And could it be that the sun pulls the earth and the
other planets and helps keep them in their paths? Newton thought so.

At first, he could not prove that his idea was right. He himself decided that he was on the wrong track. But
years later, he worked again on the problem and found out that he had been right after all. He wrote a famous
book about gravity.

Newton made many other discoveries. Some of them were about light. He found out, for instance, that sunlight
is composed of the rainbow colors. He studied sunlight partly by blowing soap bubbles and watching the colors
in them. His neighbors were surprised to see a grown man blowing bubbles for hours at a time.

Newton wanted to find out more about the planets and the other heavenly bodies. But he was not satisfied with
the telescopes that were available. To get a better one, he invented a new kind - a reflecting telescope. It helped
him find out many new things about the sky.

Scientists who lived before Newton .................. .

1) were familiar with what we now call gravity

2) did not know why objects fell to the ground

3) did not understand that some force held them tied to the Earth

4) were amazed at the fact that houses kept sticking to the ground
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78- Newton wrote his first book when he .................. .
1) realized that his ideas were correct 2) found out he was on the wrong track
3) decided to become famous in his country 4) decided to share his experiments with other scientists
79- The word "composed" in paragraph 3 is closest in meaning to .................. .
1) picked up 2) noted 3) made up 4) depended
80- The word "one" in paragraph 4 refers to .................. .
1) kind 2) view 3) experiment 4) telescope
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Part A: Grammar & Vocabulary
61- He speaks .........c.euueee. Spanish, so we are able to find a nice room in Madrid.
1) a few word of 2) few words of 3) alittle 4) a little more
62- People do not want to spend time in .................. but want to gain results as soon as possible.
1) learning 2) to learn 3) for learning 4) learn
63- Don’t worry. If you make a mistake in this job, nobody .................. .
1) will notice 2) won’t notice 3) notice 4) would notice
64- If you want to have a healthy diet, you need to .................. both fruits and vegetables in almost every meal
you eat.
1) refer 2) store 3) agree 4) include
65- She must be .................. of her son. He has received his PhD in physics.
1) certain 2) lucky 3) proud 4) favorite
66- A:It’sa ..cceninennnnnnns that you weren’t killed in that car accident!
B: Yes, but I broke my leg and it has hurt since then.
1) wellness 2) secret 3) progress 4) miracle
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67- We are quite busy today, but I’ll see if I can .................. a meeting for sometime tomorrow morning.
1) invite 2) arrange 3) exchange 4) measure
68- If you want to find out what’s going on in your .................. , listen to your local radio station.
1) range 2) region 3) agency 4) broadcast
69- A group of painters who was under the .................. of Picasso’s style had a meeting last week.
1) relationship 2) observation 3) influence 4) production
70- Doctors cannot find a cure for the illness until they have identified the .................. .
1) cause 2) event 3) style 4) pres
71- Although she didn’t mention any names, everyone knew who she was .................. to.
1) advising 2) referring 3) reflecting 4) expecting

Part B: Cloze Test
Psychology is the science of mental life. By mental life, we mean ...(72)... of the mind such as thinking,
remembering, dreaming, ...(73)... a friend, and understanding a language. Mental life also includes ...(74)..., or
feelings, such as pleasure and anxiety, and moods such as ...(75)... and worry. We express our mental life in our
behavior, for example, when we speak or write, or when we do something requiring ...(76)... such as playing
tennis.

72- 1) functions 2) pressures 3) messages 4) factors
73- 1) recognizing 2) frightening 3) achieving 4) preventing
74- 1) attempts 2) results 3) emotions 4) customs
75- 1) retirement 2) tiredness 3) recreation 4) proportion
76- 1) title 2) effect 3) habit 4) skill

Part C: Reading Comprehension
Before Newton’s time, scientists knew something about gravity. They knew that gravity makes objects fall to the
ground and keeps houses and people from being thrown into space. Could it be, Newton asked himself, that the
earth pulls the moon and keeps it from running away? And could it be that the sun pulls the earth and the other
planets and helps keep them in their paths? Newton thought so.
At first, he could not prove that his idea was right. He himself decided that he was on the wrong track. But years
later, he worked again on the problem and found out that he had been right after all. He wrote a famous book
about gravity.
Newton made many other discoveries. Some of them were about light. He found out, for instance, that sunlight
is composed of the rainbow colors. He studied sunlight partly by blowing soap bubbles and watching the colors
in them. His neighbors were surprised to see a grown man blowing bubbles for hours at a time.
Newton wanted to find out more about the planets and the other heavenly bodies. But he was not satisfied with
the telescopes that were available. To get a better one, he invented a new kind - a reflecting telescope. It helped
him find out many new things about the sky.
77- Scientists who lived before Newton .................. .
1) were familiar with what we now call gravity
2) did not know why objects fell to the ground
3) did not understand that some force held them tied to the Earth
4) were amazed at the fact that houses kept sticking to the ground
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78- Newton wrote his first book when he .................. .
1) realized that his ideas were correct 2) found out he was on the wrong track
3) decided to become famous in his country 4) decided to share his experiments with other scientists
79- The word "composed" in paragraph 3 is closest in meaning to .................. .
1) picked up 2) noted 3) made up 4) depended
80- The word "one" in paragraph 4 refers to .................. .
1) kind 2) view 3) experiment 4) telescope
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Part A: Grammar & Vocabulary
61- He speaks ...........c...... Spanish, so we are able to find a nice room in Madrid.
1) a few word of 2) few words of 3) alittle 4) a little more
62- People do not want to spend time in .................. but want to gain results as soon as possible.
1) learning 2) to learn 3) for learning 4) learn
63- Don’t worry. If you make a mistake in this job, nobody .................. .
1) will notice 2) won’t notice 3) notice 4) would notice
64- If you want to have a healthy diet, you need to .................. both fruits and vegetables in almost every meal
you eat.
1) refer 2) store 3) agree 4) include
65- She must be .................. of her son. He has received his PhD in physics.
1) certain 2) lucky 3) proud 4) favorite
66- A:It’sa ..cevvvvninnnnnnns that you weren’t killed in that car accident!
B: Yes, but I broke my leg and it has hurt since then.
1) wellness 2) secret 3) progress 4) miracle
67- We are quite busy today, but I’ll see if I can .................. a meeting for sometime tomorrow morning.
1) invite 2) arrange 3) exchange 4) measure
68- If you want to find out what’s going on in your .................. , listen to your local radio station.
1) range 2) region 3) agency 4) broadcast
69- A group of painters who was under the .................. of Picasso’s style had a meeting last week.
1) relationship 2) observation 3) influence 4) production
70- Doctors cannot find a cure for the illness until they have identified the .................. .
1) cause 2) event 3) style 4) pres
71- Although she didn’t mention any names, everyone knew who she was .................. to.
1) advising 2) referring 3) reflecting 4) expecting

Part B: Cloze Test
Psychology is the science of mental life. By mental life, we mean ...(72)... of the mind such as thinking,
remembering, dreaming, ...(73)... a friend, and understanding a language. Mental life also includes ...(74)...,
or feelings, such as pleasure and anxiety, and moods such as ...(75)... and worry. We express our mental life in
our behavior, for example, when we speak or write, or when we do something requiring ...(76)... such as
playing tennis.

72- 1) functions 2) pressures 3) messages 4) factors

73- 1) recognizing 2) frightening 3) achieving 4) preventing
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74- 1) attempts 2) results 3) emotions 4) customs
75- 1) retirement 2) tiredness 3) recreation 4) proportion
76- 1) title 2) effect 3) habit 4) skill

Part C: Reading Comprehension

Before Newton’s time, scientists knew something about gravity. They knew that gravity makes objects fall to
the ground and keeps houses and people from being thrown into space. Could it be, Newton asked himself, that
the earth pulls the moon and keeps it from running away? And could it be that the sun pulls the earth and the
other planets and helps keep them in their paths? Newton thought so.

At first, he could not prove that his idea was right. He himself decided that he was on the wrong track. But
years later, he worked again on the problem and found out that he had been right after all. He wrote a famous
book about gravity.

Newton made many other discoveries. Some of them were about light. He found out, for instance, that sunlight
is composed of the rainbow colors. He studied sunlight partly by blowing soap bubbles and watching the colors
in them. His neighbors were surprised to see a grown man blowing bubbles for hours at a time.

Newton wanted to find out more about the planets and the other heavenly bodies. But he was not satisfied with
the telescopes that were available. To get a better one, he invented a new kind - a reflecting telescope. It helped
him find out many new things about the sky.

Scientists who lived before Newton .................. .

1) were familiar with what we now call gravity

2) did not know why objects fell to the ground

3) did not understand that some force held them tied to the Earth

4) were amazed at the fact that houses kept sticking to the ground

77

78- Newton wrote his first book when he .................. .

1) realized that his ideas were correct 2) found out he was on the wrong track

3) decided to become famous in his country 4) decided to share his experiments with other scientists
79- The word "composed" in paragraph 3 is closest in meaning to .................. .

1) picked up 2) noted 3) made up 4) depended
80- The word "one" in paragraph 4 refers to .................. .

1) kind 2) view 3) experiment 4) telescope
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